








10. The heights of 6 plants are listed below.

Each height is given to one decimal place.
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(a) Work out the smallest possible mean.

l ti). __
......................... cm 

(2) 

(b) Work out the greatest possible range.

......................... cm 

(2) 

11. The width of a rectangle is 50cm, correct to 2 significant figures.

The length of a rectangle is 115cm, correct to 3 significant figures.

(a) Write down the lower bound for the width.

�q-� ......................... cm 

(1) 

(b) Calculate the lower bound for the area of the rectangle.
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......................... cm2

(2) 
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9.65 - 3.05 = 6.6

6.6














